- p— = .
SH6ERE 2AFRITEFER —SHIABIIENEE  R7 -1 - THE
8 /=
12 17 = F T ® B %
. |Pmape (2~4m xaeREL
1 |PTAsE®RE: —ETK12:10
PHIBIRERHKE
2
8
ERENTTTN=
4 |emERs (3% 4Y51Y) 1+2614:45
N |FieESkEs 3~6%15: 40
5 1+3G14:45
X 2-4~6%15:40
6 |#1FEAFHSER N
* _|meos - —#T#14: 45
L |exeswmms —EFR14: 45
8
T
9
8
REER
10 |E8=% 1~A4%14:45
A |1~amowmss 5-6%15:40
S8 x@ssomns
11 |[@@==s0g
W [o-RL—2%x%
12 |z2zRRT3E 1+3%14:45
* |30 —BE:0OB 2.4~6%15:40
13 |@suEs a4
x |=vFESLF- ETR14:45
W |lyzrvwanEg (15 1l2F14:4°S
15
T
16
=]
17 |5 1~4%14:45
5 |77 5-6%15:40
18 1+28514:20
w o |BES 3~6815: 10
19 |BE:= 1+3%14:20
N EEGIS 2-4~6%15:10
% |mEsmons —ETR14:45
2l |exEommms —ETR14:45
22
T
28 |xemxs
2 |=etre
25 1+2614:45
W 3~6%15:40
26 . 1:.3514:45
26 |z - 3008 5. 4 3818143
27K7 BEE —=ET™14:20
28 ez a 1+2614:45
g |OFEERIR 3~6%F15: 40




